@D 245 @ 345 3 26
@ 36 ® 46
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4. v 13l AABC 9] Hol=?

T sin | cos | tan
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sin A = cos A

© 45°<A<90°¥Y
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€ 13a+13c =

h 5(:1/rnC
Zte sin cos
74° 0.96 0.28
75° 0.96 0.26
76° 0,97 0.24




26. T3 AZH]o] B E 0]8351] sin15° + tan16° — cos 14° o] 3=
Fafolet.

Ze AtRl(sin) FAMl(cos) | EtHIE(tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867




27. sin(2x + 30°) = cos(3y — 45°) ¥ W, 4x —y O] &S FSHH? (H,
0° < x<30° 15° <y <45°)
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tan45° =

@ tan tan45° )

@ sin?30° 4+ cos?60° = =

2
® co0s30°+ cos60° = cos90°

@ sind5° = cos45° x tan 45 °

® sin?30° + cos230° =1
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